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ADSL

Web

[1] 24bit BMP(bitmap)
Web
24bit BMP Web

Web



2.1

2.2

JPEG

2.3

JPEG

[2]

24bit BMP

[3]

JPEG

BMP

JPEG

JPEG

Web
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Web

[4]



JPEG

DCT
\ 4
—>
DCT
I
v
y ¢ A\ 4
JPEG
2.1
24bit JPEG
24bit JPEG
24bit
JPEG 24bit JPEG
JPEG DCT
JPEG
JPEG
DCT
“t” "t ASCII 0111 0100
2.2




16 11 12 14 12 10 16 14
0001 0000 0000 1011 0000 1100 0000 1110 0000 1100 0000 1010 0001 0000 0000 1110

0 1 1 1 0 1 0 0
0001 0000 0000 1011 0000 1101 0000 1111 0000 1100 0000 1011 0001 0000 0000 1110

16 11 13 15 12 11 16 14

2.2

JPEG

2 JPEG

DCT

2.3

2.3



2.4

JPEG <SOI><EOI>
DQT
-2
DQT 2
8

16 11 13 15 12 11 16 14
0001 0000 0000 1011 0000 1101 0000 1111 0000 1100 0000 1011 0001 0000 0000 1110

0 1 1 1 0 1 0 0
0111 0100

2.4

01110100 ASCII t”




3.1

Web
3.1
PC
Web
4
(Step2)
(Step3) I T o
Web Server

o

(Stepl)

Client
(Stepl)

(Stepl)
(Step3)

3.1




3.2

2 3.1
3.1
Java Servlet Servlet
Servlet Web Java
CGI(Common Gateway Interface) Servlet
CaGl
Servlet Jakarta Project  Tomcat[5]
Apache Tomcat  Apache
Servlet Tomcat Tomcat
Apche Tomcat
DBMS(Data Base Management System)
Hitachi HiRDB Servlet DMBS
JDBC(Java Data Base Connectivity) JDBC
3.2 5 vajra

OS Windows 2003 Server R2 Standard Edition

3.2
(0N Windows 2000 Server SP4
Web Server Apache 2.2
Java Servlet Server Tomcat 5.5
DBMS HIRDB 7

10



3.3

Web

HTML  form ( 3.3.1)
e

Login System by Image

Drag &
Drop
3.3.2 Drop Drop

-
Login System by Image

OJ 4 mgErOyr

3.3.2 Drag & Drop

11



3.3.1 JavaApplet

Java Applet Applet Applet Web
HTML Web
Applet
2
Java [5]
Applet [5]16]
Java
Applet

3.3.2 Java Applet

Applet class JAR

JAR jdk
3.33
C:¥Java¥Mnemonic >jar cvf MakeMnemonicApplet.jar *
drop.jpg ( =6858)( =5836)(14% )
MakeMnemonicApplet$FileDropAcceptableLabel.class ( =2415( =
1192)(50% )

MakeMnemonicApplet.class ( =3769) ( =2072)(45%

)
MakeMnemonicApplet.java ( =6548)( =2322)(64%
)
Thumbs.db ( =5120)( =2659)(48% )

3.33 JAR

12




JAR
keytool  jkd
3.34 mykey

C.¥>keytool -genkey

testkey
[Unknown]: matoba shoji
[Unknown]: shimane university
[Unknown]: lab tanaka
[Unknown]: matsue
[Unknown]: nishikawatsu
2
[Unknown]: JP
CN=matoba shoji, OU=shimane university, O=lab tanaka, L=matsue,
ST=nishikawatsu,
C=JP ?
[no]: y
<mykey>
( RETURN
3.34
mykey
.3.35 Applet Drop Web

C:¥Java¥Mnemonic >jarsigner MakeMnemonicApplet.jar mykey
: testkey

3.35

13




3.4

(DL)
C > C w5
IT I
I 1L
IT 1L
IT I
1L I
DBMS i; ID < DL >
I
I
IT
C D

DL
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BT Ao MMERK Drag & Drop /3—3,32

matoba

£

HEERRMTEITLA

A=ITFIA

3.4.2
3.4.1 Applet Servlet Stream
Applet Drop Web
Applet-Serviet
Applet
Applet Applet
Stream
3.4.4
Applet Servlet
Applet Servlet
httpclient multipart post
Applet JAR API

12033081 @iz shimane-u.ac. jp

15

Stream

3.4.3

Jakarta Commons



URL url = new URL("http://rena.cis.shimane-u.ac.jp/s033081/servilet/StreamServlet");
URLConnection uc = url.openConnection();

I

uc.setDoOutput(true);

I

uc.setUseCaches(false);

/[Content-type

uc.setRequestProperty("Content-type","application/octet-stream™);

1l

DataOutputStream out = new DataOutputStream(uc.getOutputStream());
dout.write(buf,0,(int)FileSize);

dout.flush();

dout.close();

hhkkkkkkkhkhkhkhkhkhkhkhkhikhkkkiikkx
/ /
/** **/

/************************/

1

DatalnputStream din = new DatalnputStream(uc.getinputStream());

Il
String receive = din.readUTF();

1

din.close();

3.4.3 Applet-Servlet Stream (Applet )

16




1

DatalnputStream din = new DatalnputStream(req.getlnputStream());

1l

File fp = new File("C:¥¥LGW¥¥Data¥¥login.jpg");
String fname = fp.getAbsolutePath();
FileOutputStream fout = new FileOutputStream(fp);

I

intc;

int i=0;

while ((c = (din.read())) '=-1) {

fout.write(c);

i++;
}
1l
din.close();

fout.close();

3.4.4 Applet-Servlet Stream (Servlet )
3.4.2
jpegstetgano.exe rejpegstegano.exe C

exe
DBMS
ID DBMS ID 00000002
00000003
jpegstegano.exe Servlet

Java.Runtime.exec Java

Tomcat

Tomcat

jpegstegano.exe
Tomcat

Catalina.policy

17




3.45 Java.Runtime.exec 3.4.6

grant codeBase "file:${catalina.nome}/LGW/*" {
permission java.lang.RuntimePermission "java.lang.Runtime.*", "write";

permission java.io.FilePermission "java.io.*", "write";

3.4.5 Catalina.policy

/1 String
com = new String("C:/LGW/Prog/jpegstegano.exe " + "C:/LGW/Images/Ol.jpg " +
"C:/LGW/Images/fout.jpg " +"maketest");
/IRuntime
Runtime rt = Runtime.getRuntime();
try
1l
Process pr = rt.exec(com);
rt.waitFor();
}
1l
catch (Exception e) {
System.exit(1);

}
3.4.6 Java.Runtime.exec
3.4.3
34.1
ID DBMS DBMS
ID MAX MAX +1 ID 347

ID DBMS
ID

18




t A B
ul DBMS ID
A DBMS

A 4 ID
t2
t3 DBMS ID

A 4
t4

A 4
t5 DL

A 4
t6 DBMS

Y
t7
A
DBMS
3.4.7
java  synchronized
Java.util.concurrent.atomic
synchronized Java method synchronized
Java.util.concurrent.atomic concurrent
synchronized synchronized
3.4.8

19



123

123

a

234

123 234
3.4.8 Java.util.concurrent.atomic
concurrent
synchronized 3.4.9
Synchronized concurrent
t

2t select
l J v Password

| \ 4
l ] insert

\ 4

4t

5t

3.4.9

20




2t Synchronized

4t
concurrent ID MAX
( t )
ID MAX
5t
concurrent select
update
3.5
Drop Drop
3.4.1 Applet  Servlet Web
Web
3.5.1
Java.Runtime.exec
rejpegstegano.exe DMBS
Applet

C )

Il
Il
Il

Il
Il

C )

351

21



3.5.1 Applet JavaScript

3.4.1 Applet  Servlet Applet
Applet
JavaScript [7]
Applet Web
Java JavaScript Java  Plug-in JSOject
JSObject jdk¥jre¥lib¥plugin.jar Java

import netscape.javascript.*;

Applet HTML JavaScript
<applet> MAYSCRIPT (JavaScript )
Applet JSObject JavaScript Call
3.5.2 354 HTML
JavaScript f Servlet
errorl error2

<script language="JavaScript">
<l--
function f(data){
document.open();
if( (data !'="errorl") && (data != "error2") }{

document.write(" " data," ");
telse{
document.write(" ");
}
document.close();
}
I -->
</script>

3.5.2 JavaScript (HTML )

22



<applet

code="StreamApplet"
archive=http://rena.cis.shimane-u.ac.jp/~s033081/Applet/StreamApplet.jar
width="200"height="200" MAYSCRIPT>

</applet>

3.5.3 JavaScript (HTML )

import netscape.javascript.*;

/[JavaScript
public void JavaScript(String data) {
JSObject win = JSObject.getWindow(this);
JSObject doc = (JSObject) win.getMember("document");
JSObject loc = (JSObject) doc.getMember("location™);
Object[] args = new Object[3];
args[0] = new String(data);
String s = (String) loc.getMember("href"); // document.location.href
win.call("f",args); /l Call f() in HTML page

3.5.4 Applet JavaScript
3.6 Java Database Connectivity

DBMS Java
DBMS Java Database Connectivity JDBC API
DBMS JDBC Driver
DBMS HiRDB HiRDB JDBC Driver

3.6.1 Driver Manager Data Source

Servlet DBMS JDBC
JDBC 3.6
3.6 JDBC
Driver Manager Java JDBC DBMS
Data Source[7] | Data Source DBMS

23



Driver Manager JDBC 2.0
API Data Source Data Source
DBMS
DBMS
Driver Manager DBMS Servlet Data Source
Tomcat Servlet
Driver Manager Java DBMS
DBMS Data Souce
Tomcat
3.6.1 Data
Source Tomcat 3.6.2 Tomcat
tomcat
5
ﬁ O Servlet
DBMS

GO0

Tomcat

Driver Manager

Data Source

Tomcat

Data Source

3.6.1 Driver Manager

24

Data Source



<Context path="" docBase="C:¥Web¥users¥s033081¥Servlet">
<Resource name="jdbc/datasource" auth="Container" type="javax.sgl.DataSource"
driverClassName="JP.co.Hitachi.soft. HIRDB.JDBC.PrdbDriver"
url="jdbc:hitachi:PrdbDrive://DBID=22200,DBHOST=192.168.1.102,DB=HiRDB"
username="S033081" password="S033081"
maxActive="50" maxldle="200" maxWait="1000"/>

</Context>
3.6.2 CATALINA HOME/conf/Catalina/localhost/s033081.xml
s033081
3.7 BLOB
DBMS
3.7.1
1D HNAME PASSWORD M ATL KEY'WO RD IMAGE
00000000 MATOBA MATOPASS e MATOKEY .
00000001
S — i v J
CHAR BLOB
3.7.1
3.7.1 DBMS
ID,NAME,PASSWORD,MAIL,KEYWORD CHAR
IMAGE BLOB(Binary Large Object) [9] BLOB
DBMS BLOG
LOB RD
3.7.2 SQL LOB
RD BLOB RLOBS811 BLOB
LOB RD
RD
RD

HiRDB Version7

25




P169~P171,P178,P181~183,P204~P209 [10]

create table IMAGE_LGA (ID char(8),NAME char(16),PASSWORD char(8)
,MAIL char(40),KEYWORD char(8), IMAGE BLOB(100K) in RLOB811);

3.7.2 SQL

3.7.2

BLOB
Java 3.7.3

/IFile
File Ifile = new File(FilePath);

1

fin = new FilelnputStream(Ifile);

[/l Statement
stmt = con.prepareStatement("INSERT INTO s033081.IMAGE_LGA(ID, NAME,
PASSWORD, MAIL, KEYWORD, IMAGE) VALUES("+id+", "+name+", "'+pass+",

n|+mai|+|n , "I+key+"', t))n)’

stmt.setBinaryStream(1,fin2,(int)Ifile.length());

stmt.executeUpdate();

373 ?

26




Web

[11]

4.1

4.1.1

41.1

I o FEERT BEE I F o S TR

41.1



[11]

64

4,1.2
Web 1
3
4.2
3
4.2.1
1 Drop
Drop
Drop Applet

A EgEROYT

421

28



Drop

29

3 Drop
4.2.2
DBMS 422
ID NAME PASS1 PASS2 PASS3 MAIL KEYWORD
oooooooon MATOBA MPASS] MFPAS52 MPAS53 e MATOKEY
oooooool
— —
CHAR
422
3
4.3
Drop
3 7 10 Drop
10° =1000
Drop Drop



1 Drop
3=6
m
(m+n)™
1 m!
4.3.1
a~z,A~Z,0~9 62
62° = 218 a* )
(10" 431
8 49 111
27 165
4.3.1
Drag & Drop
0~9 4
1 (10*)
3 19 22° =10648

30
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5.1

5.1.1

Applet

Applet

Web

Applet

Post

Jakarta Commons

Servlet

HttpClient

Web

Web

Applet

51.1 Applet
Servlet
Stream
Post Java
HttpClient

32

Web

Post

Web

511

Web

Post



HttpClient Post
Drag & Drop 3
5.1.2
511
511
Web DB CPU
rena o X Celeron 2.4GHz 512MB
db X o Celeron 2.8GHz 512MB
vajra o o Dual Core Xeon 1.86GHz 1GB
LAN 100BASE-T(Sun MicroSystems Type PCC FT4)
rena Web DB
vajra Web DB
A 5.1.2
5.1.2
DB do | DB vajra
Web rena A B
Web vajra C
5.1.3
3 2 Servlet
Servlet
Servlet
Servlet 5.1 Servlet

33



5.1.3 Servlet

Servlet
Servletl Applet
Servlet2
Servlet3 PBMS
(SELECT) (INSERT)
Servlet4
Servlets | DBMS (SELECT)
3 34.1
5.1.2
Applet Thread

Servletl Servlet3

E Servletl

Servlet2

Web

512

JDBC

513

34




JDBC

Driver Manager

Data Source

513

Driver Manager Data Source

Data Source

5.14
5.14
10 100 10
10KB 10KB 600KB
5.2
(Servlet2 Servlet4) 3
x 3
Servletl Servlet3 Servlet4 Servlet5
5.2.1 JDBC
3.6.1 JDBC Driver Manager Data Source 2

35



DBMS Servlet3  Servlet5
5.2.1 5.2.1 5.2.2
5.2.1
JDBC Driver Manager,Data Source
(Servlet3)
50000

40000
(]
& 30000
£
20000
10000

—&— Driver Manager
—— Data Source

5.2.1 JDBC

14000

12000
5 10000
8000
6000
4000
2000

(mse

(Servlet5)

—&— Driver Manager
—— Data Source

5.2.2 JDBC

Data Source
Source

Data Source

Driver Manager

36
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503

Web

Data Source

5.2.2 Web
Web
Web DB
5.2.2
5.2.3 5.2.6
5.2.2
JDBC Data Source
Web

10

—aA— A servletl
—a&— A servlet2
—aA— A servlet3
—o— C servletl
—— C servlet2
—&— C servlet3

20 30

40 50 60 70 80 90 100

523 Web

37




Web

8000
7000
8‘ 2888 —A— A servlet4
ZE), 4000 —a— A servletb
——C servletd
3000 —o—C servletb
2000
1000

10 20 30 40 50 60 70 80 90 100

5.2.4 Web

Web

—a— A servletl
—4&— A servlet2
—&— A servlet3
—e—C servletl
—e—C servlet2
—e—C servlet3

10k 50k 100k 200k 400k 600k

525 Web

Web

16000
14000

—~ 12000
10000
8000
6000
4000

—a— A servlet4
—4&— A servletb
—e—C servlet4
—e—C servlet5

(msec

2000

10k 50k 100k 200k 400k 600k

5.2.6 Web

38




80

50

5.2.10

523

Servlet Servlet2,Serviet4

Web

525 5.2.6
HIiRDB
HiRDB
52.3 DB
Web
5.2.2.
DB
523 527
JDBC

Data Source
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50000
+
40000 A servletl
) —a— A servlet2
é 30000 —a— A serviet3
20000 —e— B servletl
—e— B servlet2
10000 —e— B servlet3
0
5.2.7 DB
DB
8000
7000
m 6000 —A— A servlet4
E 5000 —a&— A servlets
= 4000 —&— B servlet4
3000 —@— B servlets
2000
1000
0
5.2.8 DB
DB
30000
25000 —&— A servletl
’g 20000 —&— A servlet2
@ —A— A servlet3
= 15000 —e—B servletl
10000 —@— B servlet2
5000 —0—B servlet3
0
10k 50k 100k 200k 400k 600k
5.29 DB

40




DB
16000
14000
o 12000 —a— A servlet4
10000
£ 8000 —4&— A servlet5
6000 —e— B servlet4
—e— B servletb
4000
2000
0
10k 50k 100k 200k 400k 600k
5.2.10 DB
DB DBMS Servlet3 Servletb
-Web
Web Servlet3
DBMS 5.2.11
DB Servlet3
300
250
E’: 200 —A— A select
2 )
£ 150 —A&— A insert
—e— B select
100 —e— B insert
50
0
10 20 30 40 50 60 70 80 90 100
5211 DB Servlet3
Web -DB
-Web
DB

41



524 DB Web
vajra Web DB
DB
vajra
5.2.3 DB
C
5.24 5.2.12 5.2.15
5.24
JDBC Data Source
DB Web
16000
14000 —a&—C servletl
5 12000 1 1 —aA—C servlet2
@ 10000 + —aA— C servlet3
£ 8000 5 sorvietl
6000 T —@—D servle
4000 + —@—D servlet2
2000 ——D servlet3
0
10 20 30 40 50 60 70 80 90 100
5.2.12 DB Web
DB Web
1800
1600
1400
g 1200 —&— C servlet4
£ 1000 —A—C servlets
=~ 800 —e— D servlet4
600 —e— D servlet5
400
200
0
10 20 30 40 50 60 70 80 90 100
5.2.13 DB Web

42



DB Web

20000

18000
16000 —aA— C servletl
%’: 14000 —a— C servlet2
2 13888 —a— C servlet3
- 8000 —e— D servletl
6000 —e— D servlet2
4000 —e— D servlet3

2000

0

10k 50k 100k 200k 400k 600k
5.2.14 DB Web

DB Web

—a&— C servlet4
—a— C servlet5
—— D servletd

—— D servlets

10k 50k 100k 200k 400k 600k
5.2.15 DB Web
Servlet3
Servlet3 DBMS
vajra
100
Servletl Servlet3 10
600KB 20

43



5.25

525

Servlet4

Web

Servlet3
38

Servlet4

Drop

10
200KB
200KB
5.25
Servlet3 | Serviet4
100KB 50 16 43
200KB 50 38 9
100KB
Servlet 200KB 50
50
Drop
51.1
50
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Servlet3

Drop
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6.1

HTML

6.2

24bit

JPEG

45

JPEG

200KB

Drag & Drop

50
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9.1 JDBC Servlet3
10 20 30 40 50 60 70 80 90 100
Driver
4431 | 8667 | 11523 | 15284 | 18760 | 22473 | 26596 | 30309 | 33663 | 43228
Manager
Data Source | 1855 | 3500 | 5067 | 8411 | 10191 | 11519 | 13050 | 15578 | 18273 | 20933
(Servlet3)
50000
40000 A
2 s
e 30000 //' —e— Driver Manager
v20000 = | |—=—Data Source
10000 _4://-/’:://:/./
0 | | | |
10 20 30 40 50 60 70 80 90 100
9.1 JDBC

48
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9.2 JDBC Servlet5
10 20 30 40 50 60 70
Driver Manager | 2463 | 4548 | 6833 | 8358 | 11383 | 13120
Data Source 33 32 43 289 179 878 1187
(Servlet5)
14000
12000 //
< 10000
3 / :
£ 8000 / —o— Driver Manager
6000 / —=— Data Source
4000 /
2000
o = o L . .
10 20 30 40 50 60 70
9.2 JDBC Servlet5

49




9.3 Web

A servletl | A servlet2 | A servlet3 | C servletl | C servlet2 | C servlet3
10 279 331.96 2564 46 109.8 612
20 241 661.8 4181 114 203.1 1312
30 274 968.2 6104 128 316.6 2015
40 269 14101 8006 173 4342 2596
50 479 1690.8 10531 174 527.2 3539
60 562 1981.3 12458 222 654.7 4487
70 749 2123 14833 270 748.3 5149
80 997 2503.7 17191 264 867.7 6056
90 1365 2613.8 20121 326 985.3 6749
100 1403 2947.2 23091 387 1040.8 7303
Web
25000
20000 -~ —a—A servletl
’8‘ 15000 —a— A servlet2
e 5 —a— A servlet3
= 10000 —e—C servletl
/ —e—C serviet2
5000 / —e—C servlet3
0
10 20 30 40 50 60 70 80 90 100
9.3 Web

50




9.4 Web

6000
5000

S 4000

3

£ 3000

A servletd | A servlets | C servlet4d | C servlets

10 639 32 130 39
20 1243 55 250 54
30 1820 101 383 131
40 2534 93 487 178
50 2770 944 594 166
60 3492 181 714 208
70 3810 159 828 210
80 4438 401 976 336
90 4863 438

100 5540 560

Web

—— A servletd
—a— A servletb
—o—C servlet4

2000 / —e—C servlet5
1000 e
0 | | |
10 20 30 40 50 60 70 80 90 100
9.4 Web
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9.5 Web

A A A C C C
servietl servlet2 servlet3 servietl servlet2 servlet3
10k 279 3319 2564 46 109.8 612
50k 227 1156.9 5073 83 451 2051
100k 201 22444 7301 88 894 3297
200k 196 4627.2 9888 81 1836.8 6269
400k 161 9157 14050 71 3800 9824
600k 160 14050 16001 103 9824 11964
Web
18000
16000 /-
14000 /- /- —— A servletl
’g 12000 / / —— A servlet2
é 10000 /‘/ /- —— A servlet3
8000 —e— C servletl
6000 —— C servlet2
4000 /t///// /-/ —— C servlet3
2000
0
10k 50k 100k 200k 400k 600k
9.5 Web

52




9.6 Web

A serviet4 A servlet5 C servlet4 C servlet5
10k 639 32 130 39
50k 1456 66 472 64.6
100k 2481 77 941 90
200k 5177 54 1964 78
400k 8670 85 3536 278
600k 13512 45 5685 100

16000
14000
12000

ggloooo

E 8000

6000
4000
2000

Web

/

/

Ve

e

A

qéa‘///"//‘/(

10k 50k 100k 200k 400k 600k

—— A serviet4
—A— A servlet5
—e—C servlet4
—e— C servlet5

9.6 Web

53




9.7 DB

A servletl | Aservlet2 | A servlet3 | Bservletl | B servlet2 | B servlet3
10 279 331.96 2564 103 288.8 1910
20 241 661.8 4181 208 541.2 4027
30 274 968.2 6104 233 950.3 6379
40 269 14101 8006 338 1221.3 7904
50 479 1690.8 10531 364 1543 11014
60 562 1981.3 12458 480 1886.6 11945
70 749 2123 14833 809 2133.9 16085
80 997 2503.7 17191 1055 2316.2 16786
90 1365 2613.8 20121 1166 2764 21112
100 1403 2947.2 23091 1359 3072.7 23735
DB

25000 /
20000 —a— A servletl
) —a— A servlet2

& 15000
2 —a— A servlet3
—o—
10000 B servletl
/ —e— B servlet2
5000 / —e— B servlet3
0 . | |
10 20 30 40 50 60 70 80 90 100
9.7 DB
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9.8 DB

A servlet4 A servlet5 B servilet4 B servlet5
10 639 32 552 18
20 1243 55 1097 16
30 1820 101 1629 38
40 2534 93 2156 66.7
50 2770 944 2807 145
60 3492 181 3112 855
70 3810 159 3704 168
80 4438 401 4624 213
90 4863 438 4621 237
100 5540 560 5345 384
DB
6000
5000 f//‘/
/8\ 4000 /l://( —&— A servlet4
L —a— A servlet
£ 3000 serviets
/ —e—B serviet4
2000 —e— B servletb
1000
0 | | |
10 20 30 40 50 60 70 80 90 100
9.8 DB
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99 DB

A A A B B B
servietl servlet2 servlet3 servietl servlet2 servlet3
10k 279 331.9 2564 103 288.8 1910
50k 227 1156.9 5073 139 1097.9 4421
100k 201 2244 4 7301 130 2314.7 6018
200k 196 4627.2 9888 152 4780 10253
400k 161 9157 14050 259 9310.5 13884
600k 160 14050 16001 706 14242 15780
DB
18000
16000
14000 ﬁ
12000 —— A servletl
S / —a— A servlet2
g 10000 / —— A servlet3
8000 —e—B servletl
/ / —e— B servlet2
6000
/ / —e—B servlet3
4000 / /
2000 / -
0
10k 50k 100k 200k 400k 600k
99 DB
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9.10 DB

A servlet4 A servlet5 B servilet4 B servlet5
10k 639 32 552 18
50k 1456 66 1490 37
100k 2481 77 2773 57
200k 5177 54 5316 27
400k 8670 85 8724 46
600k 13512 45 13313 94.7
DB
16000
14000 /
_ 12000
2 10000 / —— A serviet4
(%]
= / —a— A servletb
8000
6000 / —e— B servlet4
A —o—B servlet5
4000 /
2000
0 ——l”fji:——i e - *~—a

10k

50k 100k 200k 400k 600k

9.10 DB

57




9.11 DB Web
Cservletl | Cservlet2 | Cservlet3 | Dservletl | D serviet2 | D serviet3
10 46 109.8 612 36 99.2 581
20 114 203.1 1312 98 206.5 1234
30 128 316.6 2015 179 2713 1963
40 173 434.2 2596 181 4094 2887
50 174 527.2 3539 228 4855 3866
60 222 654.7 4487 230 652.8 4507
70 270 748.3 5149 274 7134 5742
80 264 867.7 6056 319 798.7 6674
90 326 985.3 6749 316 088.27 7807
100 387 1040.8 7303 422 981.65 8053
DB Web

9000

8000 F /./0

7000 /./ —2| [—a—C servletl

S 6000 / —— C servlet2
\g{ 5000 / —— C servlet3

4000 —e—D servletl

3000 —o—D servlet2

2000 —o—D servlet3

1000 P

0 ‘ ‘
10 20 30 40 50 60 70 80 90 100

9.11 DB web
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9.12 DB Web
C servlet4 C servlets D servlet4 D servlet5
10 130 39 125 31
20 250 54 251 47
30 383 131 341 54
40 487 178 470 67
50 594 166 580 85
60 714 208 720 99
70 828 210 857 156
80 976 336 978 128
90 1128 128
100 1264 188
DB Web
1400
1200 A
__1000
o —a—C serviet4
2 800 ——C servlet5
= 600 —e—D serviet4
—e— D servletb
400
200
0
10 20 30 40 50 60 70 80 90 100
9.12 DB Web
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60

9.13 DB Web
C servletl | C servlet2 | C servlet3 | D servletl | D servlet2 | D servlet3
10k 46 109.8 612 36 99.2 581
50k 83 451 2051 70 434 2015
100k 88 894 3297 59 896.9 3229
200k 81 1836.8 6269 83 1759.6 6407
400k 71 3800 9824 82 3466.7 10500
600k 103 5695.9 11964 97 5331.3 13077
DB Web
14000
12000 | /
—— C servletl
— 10000
9 / —a— C servlet2
2 8000 / —— C servlet3
6000 —e— D servletl
4000 / / —s— D servlet2
/ —e— D servlet3
2000
0 - - - a2
10k 50k 100k 200k 400k 600k
9.13 DB Web




9.14 DB Web
C servlet4 | Cservlets | D servletd | D servlets
10k 130 39 125 31
50k 472 64.6 483 73
100k 941 90 927 102
200k 1964 78 2035 120
400k 3536 278 3606 107
600k 5685 100 5535 99
DB Web
6000
5000 /
'3 4000 // —— C servlet4
2} —A—
€ 3000 oo
2000 —o—D servlet5
1000 |
0 @
10k 50k 100k 200k 400k 600k
9.14 DB Web
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Servlet

Servlet Servlet3
Servlet5
9.15
servlet2
. servlet1(
TempFile | password DB .
select insert
Read
10 68 0 325 15 185 184 43 211
20 53.1 0 0 14 228 191 17 152
30 4 0 0 12 226 192 4 814
40 41 0 0 11 236 206 3 89.6
50 111 0 0 13 236 214 3 136
60 7.8 0 0 14 243 217 53 47
70 7.4 0 0 12 242 222 59 545
80 12.3 0 0 12 241 234 53 67.2
90 116 0 0 15 245 209 6.1 142
100 151 0 0 13 246 239 6 130
A -
—e— TempFile Read
300
—=&— password
250
e e IR
AN
/8\ 200 |
3 select
£ 150 »
\ /A /f7<
100 A
|
50 \—
\ / \ / —— servletd(
DG 2 E—
0 “m—1v"
10 20 30 40 50 60 70 80 90 100 | ——servlet2

9.15
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9.16

. servlet4
TempFile Read DB select
10 1 0 23 558
20 36 0 28 1103
30 53 0 27 1507
40 35 1 29 1904
50 2 0 28 2135
60 7.2 0 33 2634
70 51 0 36 2835
80 29 0 30 3036
90 32 0 36.5 3383
100 53 0 32 3613
A)
4000
3500 —e— TempFile Read
3000
8 2500 —=-DB
< 2000 select
1500
1000 servlet4
500 ,
O L7

10 20 30 40 50 60 70 80 90 100

9.16
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9.17

. servietl( servlet2
TempFile | password | DB .
select insert
Read
10K 68 0 325 15| 185| 184 3 211
50K 2 1 19 15| 660 209 2 805
100K 19 0 0 11| 976 208 56 1907
200K 27 0 0 12 | 1692 208 7.6 4419
400K 4 0 0 11 | 2500 213 2 8932
600K 79.3 0 0 12 | 2800 211 3 14010
A) —e— TempFile Read
16000
—=&— password
14000 F /-
12000 / DB
' 10000 select
(%2]
£ 8000 | /
—¥—
6000
4000 ,/ —e—insert
2000 [ —+—servletl(
0 ——servlet2
10K 50K 100K 200K 400K BOOK servie

9.17
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9.18

) servlet4 ,
TempFile Read DB select
10K 1 0 23 558
50K 25 0 17 1302
100K 3 0 23 2284
200K 6.6 0 32 4930
400K 11 0 22 8542
600K 5 0 20 13319
A)
14000
12000 —e— TempFile Read
- 10000
3 8000 bB
E
6000
4000 select
2000
0 L7y Al Al Al Al r—1 Seeret4
10K 50K 100K 200K 400K 600K ’

9.18
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9.19

, servletl( | servlet2
TempkFile | password | DB ,
select insert
Read
10 22 0 0 22| 152 | 175 16 150
20 51 0 0 11| 213| 185 134 87.3
30 7.9 0 0 10| 248 | 191 7 65
40 18.3 11 0 9| 218| 200 3 204
50 4 0 0 9| 260| 209 12 575
60 95 0 0 9| 223| 216 13 59
70 18 0 0 11| 278 221 34.4 120
80 55 0 0 11| 236 | 226 22 70.9
90 107 0 0 11| 287 | 229 14 165
100 49 0 0 12| 284 | 235 14.9 475
B)
350 —e— TempFile Read
300 —=&— password
o AL
8 200
é select
A
150 \ / \
—¥—
100 \\/ /\\/ *
50 _ / \s_ —e—insert
0 b ST e A | ——servlet](
10 20 30 40 50 60 70 80 90 100
——servlet2
9.19
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9.20

TempFile Read DB select servietd
10 3 0 9 491
20 3 0 7 984
30 59 1 12 1342
40 12 0 20 1404
50 74 1 27 2074
60 49 0 19 1854
70 275 04 36 2300
80 6.42 0 27 2817
90 54.3 0.7 46.7 2649
100 36.9 0 35.2 2874
B)
3500
3000 —e— TempFile Read
< 2500
% 2000 —=-DB
1500
1000 select
500 [
A A A Ass A ASS AL Apmi e Ay serviet4

SR NI RN I MR

9.20
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9.21

, DB servletl( | servlet2
TempFile | password ,
select insert
Read
10K 22 0 0 22| 152 | 175 16 150
50K 93.9 0 0| 8605| 195| 175 2 693
100K 3 0 0 811029 | 199 2091
200K 7.2 0 1 81873 | 198 4 4573
400K 49 0 0 812416 | 175 13 9102
600K 63.7 0 0 912819 | 179 3 14023
B)
16000 —e— TempFile Read
14000 [
/ —=&— password
12000 /
— DB
é 10000 /
E 8000 / select
4000 .
/ —e—insert
2000
0 —+—servletl1(

10K 50K 100K 200K 400K 600K

——servlet2

9.21
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9.22

servlet4
TempFile Read | DB select ,
10K 3 0 9 491
50K 8.4 0 18 1334
100K 7.2 0 27 2538
200K 1 0 11 5070
400K 0 0 15 8464
600K 212 0 24 13036
B)
14000
12000 —e— TempFile Read
- 10000
2 8000 —=—DB
6000
4000 select
2000
serviet4
0 B~y 1y ) SRS ) B ) B 4 S
10K 50K 100K 200K 400K 600K
9.22
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9.23

, servlet1( servlet2
TempFile | password | DB ,
select insert
Read
10 6 0 0 7.46 59 62 1 71
20 22 0 0 5 57 64 15 139
30 70 0 0 6.6 72 65 9.6 239
40 93 0 0 7 65 68 18 367
50 120 0 0 7 61 78 30 423
60 86 0 0 7| 721 82 35 562
70 159 0 0 6 66 84 44 656
80 266 04 0 7| 649 87 82 772
90 242 0.8 0 8| 695 92 133 889
100 230 57 0 8 68 84 77 868
C)
—e— TempFile Read
1000
900 —=— password
800
. 700 DB
8 600
e 500 select
400 ——
300
200 —e—insert
100
0 —— servletl(
10 20 30 40 50 60 70 80 90 100
——servlet2

9.23
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9.24

) servlet4 ,
TempFile Read DB select
10 1 0 29 101
20 6 0 31 207
30 20 0 86 336
40 28 0 109 420
50 29 0 100 529
60 49 0 123 655
70 61 0 116 760
80 61 24 201 913
90
100
C)
1000
900 - —e— TempFile Read
800
< 100
2 600 —=—DB
£ 500
400
300 select
200 '
et | senvewt
10 20 30 40 50 60 70 80 90 100 ’
9.24
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9.25

, servlet1( servlet2
TempFile | password | DB ,
select insert
Read
10K 6 0 0 7 46 59 1 71
50K 6.9 0 0 13| 328 58 1 338
100K 2 0 0 14 | 593 61 0 793
200K 8.2 0 0 32| 1184 62 1 1724
400K 7.2 0 0 21| 1821 60 1 3684
600K 6.7 0 0 12 | 2510 60 0 5556
C)
—e— TempFile Read
6000
—=&— password
5000 /
/ DB
—~ 4000
5 / select
[%2]
E 3000 /
2000 / :
M —e—insert
- / —+—serviet](
0 " " . " #— | —servlet2
10K 50K 100K 200K 400K 600K
9.25
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9.26

) servlet4 ,
TempFile Read DB select
10K 1 0 29 101
50K 1 0 43 407
100K 1 0 63 849
200K 0 0 48 1895
400K 235 69.4 153 3368
600K 4 0 74 5532
C)
6000
—— i
5000 TempFile Read
§ 4000 —a-DB
E 3000
2000 select
1000
servlet4
0 L7y — A - A - AT AL S W ,
10K 50K 100K 200K 400K 600K
9.26
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9.27

, servlet1( servlet2
TempkFile | password | DB ,
select insert

Read
10 3 0 0 3 52 56 0 67
20 32 11 0 4 59 65 3 140
30 48 0 0 3.7 60 74 8.7 223
40 113 2 0 2 65 85 12 335
50 87 0 0 24 62 94 25 394
60 109 1 0 2 68 94 21 582
70 113 0 0 2.7 63 102 40 632
80 193 0 0 29 62 106 72 720
90 205 3.3 0 3| 645 108 79 820
100 217 3.1 0 3.6 69 101 105 862

D)
—e— TempFile Read

1000

900 —&— password

800

DB

700
)
o 600 select
E 500

400 *

300 —e—insert

200

100 —+—servlet1(

0 L T T A B o e i
10 20 30 40 50 60 70 80 90 100 — servlet2
9.27
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9.28

TempFile Read | DB select servietd '
10 2 0 15 102
20 9 0 16 195
30 17 0 13 274
40 28 0 17 423
50 38 0 18 510
60 50 0 22 658
70 62 2 23 764
80 68 0 23 903
90 64 0 27 1063

100 89 0 37 1192
D)

1400

1200 — |—e—TempFile Read
—~ 1000 F
2 800 —=-DB
600

400 select

200 F
0 DA e A | servlet4

9.28
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9.29

, servlet1( servlet2
TempkFile | password | DB ,
select insert
Read
10K 3 0 0 3 52 56 0 67
50K 12 0 0 12| 328 58 6.2 344
100K 34 0 0 40 | 564 58 7 801
200K 3 0 0 50| 1181 58 2 1439
400K 46.9 0 0 24 | 2025 62 3 3372
600K 3.8 1 0 20 | 2583 64 1 5111
D) | —e— TempFile Read
6000 —&— password
5000 /’ DB
é 4000 / select
E 3000
/ —*—
2000
—e—insert
1000 [
——
0 X - - ~ serviet](
10K 50K 100K 200K 400K 600K | ___servlet2
9.29
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9.30

) servlet4 ,
TempFile Read | DB select
10K 2 0 15 102
50K 4.1 0 50 410
100K 1 0 70 833
200K 0 0 93 1920
400K 0 0 77 3488
600K 0 0 72 5414
D)
6000
—e— TempFile Read
5000
é 4000 DB
£ 3000
2000 select
1000
o L= A Y W, A servlet4
10K 50K 100K 200K 400K 600K '
9.30
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